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SRLE Instructions :
1. et Rrareeh A SSSlies eI W, 1. Fill in every information asked for.
0. wd e A, 2. Attempt all questions.
3y weTEeh dedear sme I 3. Write the answer with explanation in
' o - g the space below each question.
JRERIGEE S e 4. Use the space provided on each page
iy ¢ BT fotedl S for rough work.
qTax, ' 5. If you want to rewrite the solution of a
5. t@El ¥R foifgeidl SR | P b question cancelling the original, write it
I FAM fog@uR e @R O dacl on the last blank page mentioning the
PIAT MR T WA SHHIPRIE forel. question number.
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1) 3fagq Ui,
y3—7y—6
1) Factorise :
Y-7y-6
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80 3Mid, ﬂ??\??:n?ﬁm\‘im

2) In the adjacent ﬁgure the shaded region is common to a square and a circle. The area of

th
e shaded region is § th of the area of the circle and 5 of the area of the square. If the

area of the circle is 80, find the length of the side of the square.

3) (2019)"? a1 FRaT Fafd AST A9 3B R Prar.
3) Find the greatest three digit divisor of (2019)'2
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1) R an it S e o
(1) x (24 1) IR,

: <'\l?vﬂ mfd a’grf
e cof divisors of )‘xU'xr’is +-
ime numbers, then the number of divisors | I (X+
4 It p. q. rare prime Sy

) A (}’ + ])
; er which has 24 divigore
i this property, find the smallest number wi sors,
X (= + 1), Using this property,

5) mwwmmmm 15 a9fT 1 ey
YR R T AINIeR TehaTeedTaT foclt i Soue Biger?

5) At a certain rate of interest, compoundec.i annually,
15 years. Find the number of years in which the sam
compounded annually, will be 8§ times of it,

Wﬁ,ﬁ?m

a sum of money gets doubleq in
€ sum at the same rate of interes

6) Wﬁwﬁfﬁﬁmmwﬁmn%a,aa_

UWW%W@HWMW’
2) e T WRRRY 223 aRver

6) Write 9 natural numbers in ascending order such that,
any two adj
all numbers is 223

1) The differences between

acent numbers in the order
2) The average of

are unequal,
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7) A€l ATOR | FREAT Wieltel ISEN0 Arsdl.

mmmﬁ?3ooom7mmaﬁwwmmmm w7
Z 5000 1 9 Ve 1 &RrY g e A, A1 SRR T 24,000 T g,
W M ot e wvd den Qe ?

7) Solve without using a variable.

A merchant bought some boxes of apples at the rate of 3000 per 7 boxes. He sold all of
them to another merchant at the rate of ¥ 5000 per 9 boxes and earned a profit of T 24,000
in the deal. Find the number of boxes he had purChdSLd

S)WWﬁﬁalomssmwmmme.wm
EHTRpdlet T ST OTeR -2 S SNt .
1,3, 6,10, ey cery very vy oy S5,

8) Find the five numbers between 10 and 55 in the above sequence of numbers. Then find the
sum of reciprocals of all numbers in the sequence. 6

9) A 370 B, 400 Hicx wmquardt oRfd I @1 Wl UfeedT 9@t B 7 €TqUAN GRANd
PR § AP A 7 HTGUART Foawd et i oft arfet 15 fiex wapr Riepeft. o=

ﬁﬁﬁwéﬁww%ﬁwﬁrAﬁeﬁeﬁa7%ﬁéﬁWW
fSepelt, TR ITe graugrar 3 fadt g ?

9) In a running race of 400 metre, A gives B a start of 5 seconds and beats him by 15 metre.

In another race of 400 metre they started simultaneously and A beat B by 7l seconds.

Find their speeds of running.
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5 a fig M oarm am,
10) CABCD § amrg am [AB) = 2 IAD). AR AB &% 14g
AMD = ZCMD, @R AMD & 51T @i .
" ¢ s NG 'j' AToEll o 7 T
(e oo ot A g 30 RN, @ e meidter arpet @t amfer
faal o, o wqorensfen wa st )

10) DABCD s a rectangle. (AB) = 2 [(AD). Point M is on side AB such that
ZAMD = ZCMD. Find the measure of ZAMD. et
(Use the property-1f the measure of an angle of a right angled triangle is 30. then the

. T . p
length of side opposite to that angle is half the hypotenuse.)

D C

AM B

1) T e Ry @ Sor o @, @ o 7 e st s
mmmmmmmmzmwmmm?
3.6,8,8,.
11) In the abo\g sequence of digits the third and each of the succeeding

digits is the units
place digit of the product of two preceding digits. Find the 2019%

digit in the sequence.

T ——————— —— — = -

Rough Work /@ @
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) AABC qed, I(AB) = 12, I(AC) = 5 3T mZA = 90. a5 BC R fig D ary ST
AABD 4 AACD Tt TRt T 8, TR AACD ¥ & e, '
AB) = 12, I(AC) = 5, mZA = 90. On side BC, point D is such thy th
AACD and AABD are equal. Find the area of AACD. s

¢

2) In AABC, I(
perimeters of

12

13) ) AT 2, & T A R A %) 3 &5 Py T SAHRTCAT T TR, HIRIeAl
@ oM @ g B efiet Tad IIvIRY GoaTd e, 3t e &M HeaTeR T Ter
QR T . . wmwwwaﬁaw@wmmﬁﬁaﬂmww
3o, GERT W Py HEY FTH 0, AT Uy feaviereR @, gefict M O 8% et T
gun feaeft, R T A T R feerel a1 quf o, T oAl TRl
TR < fa g ?

13) M; and M are two meadows. The area of Mj is twice the area of Ma. On a day, a team of

rted to mow the grass in My. After half of the day, the team was divided into
M, and finished it at the end of the

1d not complete the work at the end

workers sta
two groups. One of the groups continued the work in

day. The second group started to work in Mz but cou
of the day. The next day, only one worker worked in M; for the whole day and completed

the remaining work. How many workers were there in the team initially? 8

__.___.._._-_—_____._.._-_.

Rough Work /@ @1
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14 3 :
) Use the result = —— +—p——l and express the

nopxn pxn
. itive integers.
different ways, where x and y are positive integ 9

I »
m}%am%+;mmﬁ?ﬁ?3‘mm

. 1. 1 .
fraction — in the form of —+lm three
10 Xy

15) e HUREIdier Tgt aTe T BIM ST T DI HISIh Pial. TFal $eredT T
HHLT . \

15) Using only a marked ruler, draw ’an angle and its bisector. Justify your construction. 9

Rough Work/@ g T T T T T —————————————
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